Practice Test: Factoring and Complex Numbers
Name:

1. Given the function: f{ix) =x* + 2x.
Calculate the rate of change in the function between x =1 and x = 5.

2. Below is a function represented by a table. Determine if the function is
“Linear”, “Quadratic”, or “Neither”. You must give a valid reason for your
answer in order to receive any credit.

x | y
1 | 7
0 | 0
1’ 1.8
3 .| =58
3 | -8

Simplify the following as much as possible:
3. (3+6i)+(-7-4D)

g, - BE -~ 1) —3



Simplify the following as much as possible:
5. 3i(4+5i0)

Solve the following to ‘x’:
6. 2x*-11=43

7. (x=3)*+10=18

9. (2x+1y¥-11=21



Solve the following to ‘x’:
10. Yax*+6=30

Solve the following for ‘x’ and ‘y’:
12. 6x—-9i=3 + 12yi

13. 16+ 11i=2x"+ 5pi

Solve the following by “Factoring”:
14, ¥+ 7x+12=0



Solve the following by “Factoring”:
15. X’ —4x—45=0

16. X*-9x—-30=6

17. 2xX*=5x+3=0

18. 3x*—7x—-6=0
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